1.
CLS

INPUT “BBEJIUTE TEKCT”, A$

INPUT “BBEJIUTE BYKBY”, B$

FOR I=1 TO LEN(A$)

IF MID$(A$,1,1)<>B$ THEN Y$=Y$+MID$(AS,1,1)
NEXT |

PRINT Y$

2.

CLS

INPUT “BBEJUTE TEKCT”, T$

FOR I=1 TO LEN(T$)

IF MID$(TS$,1,2)="2KbI” OR MID$(T$,1,2)="I11bI" THEN Z=Z7+1
NEXT |

PRINT “B tekcre ”,Z, “ommoOoK”

PRINT “xwu, mm numercs ¢ OykBoi u”

3.

CLS

INPUT “BBEJAUTE HATYPAJIbHOE YNCJIO”, N
Y$=STRS$(N)

30 Z$="He BcTpeuaercs”

FOR I=1 TO LEN(Y$)

IF MIDS$(Y$,1,1)="5" THEN Z$="Bctpeuaercs” ELSE GOTO 30
GOTO 90

NEXT I

90 PRINT Z$

4.

CLS

INPUT “BBEJUTE AJITEBPAUYECKOE BbIPAXKEHUE”, T$

FOR I1=1 TO LEN(T$)

IF MID$(TS$,1,1)="(" THEN K=K+1

IF MID$(TS$,1,1)=")" THEN O=0+1

NEXT I

IF K=O THEN PRINT “nmaproctb cko6ok cobmonena” ELSE PRINT “maprocTh ck0OOK He
cobmoaeHa”

5.

CLS

INPUT “BBEJJUTE CJIOBO”, T$
FOR I1=1 TO LEN(T$)

IF MID$(TS$,1,1)="A” THEN GOTO 70
IF MID$(T$,1,1)="6" THEN GOTO 90
NEXT I

70 PRINT ““a BcTpewaercst panbIie”
END

90 PRINT “6 BcTpeuaeTcs panbpiie”



